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Expand and Simplify Date

Question 1.

Expand and simplify:
a. 2h+3)+4 = b. 2b+2)-2 =
c. 2d+5)-3 = d. A+ 17 =
e. 3(y+3)-6 = f. Ax+5)+16 =
g. Sg+3)-10 = h. Hp+3)-3 =
. S5(g+3)+9 = J- Swu+2)-2 =

Question 2.

Expand and simplify:
a. 6(d+5)+2d = b. S5(e-7)+4e =
c. Ip+2)+6p = d. Hv-5)+dv =
e. 6(1-3)-4t = f. 8(s+6)+3s =
g. on+7)-6n = h. 3(h-6)*+2h =
. Ir+9)-2r = J- 3(k+8)-2k =
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Question 3.
Expand and simplify:
5(5h+5)+ 11h

54dm+9)-2m =
4(5f+3)-11f =
6(6w-4)-34w =
44v-2)+11lv =
Question 4.
Expand and simplify:
6n+22n-8) =
2dm+4(5m+7) =
7s +2(2s+9) =
Question 5.
Expand and simplify:
9Bv+6)+3(v+6) =

42f+5)-2(f+9) =

4Bk+2)2(k+7) =
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42n+7) + 4n

4(6y +2)-10y

4(2d + 8) +2d

6(57+3) - 24f

5@r+3)+5r

27c+5(4c+)5)

19q - 3(4a + 8)

18p+3(3p +5)

8mn+7)-2(n+7)

0w +5)-2(w+9)

9(x +9) 3(x +7)




Expand and Simplify - Answers

Question 1. Question 4.

a. 2h+ 10 a. 10n - 16
b. 2b+2 b. 47¢ + 25
c. 2d+7 c. 44m + 28
d. 4v +37 d. Ta - 24
e. 3y+3 e. Ils+18
I 4x + 36 I 27p +15
g. 5¢+5 g. 6w -21
h. 4p +9 h. 20c + 32
i S5g+24 i 46p + 8
J. Su+38 Jj. 6v+15
Question 2. Question 5.

a 8d + 30 a 30v+ 72
b 9e - 35 b 6n+42
c 15p+18 c 6f+2

d. 17v - 45 d. 16w +27
e. 2t-18 e. 14k + 22
I 11s +48 I 6x + 60
g 3n+63 g 10z + 32
h Sh-18 h 10k + 53
i S5r+63 i 19¢ + 28
J k+24 Jj 1le +20

Q

a 36h +25
b 12n +28
c 18m + 45
d. 14y + 8
e. 9f+12
f. 10d + 32
g 2w - 24
h 6f+ 18

i 27v -8
J 207 + 15



